> A
A & 0l & AF 2 E A A
20229 20lah LB MSEFLEASE D
FM: HESEFALAEHAEL
3 MsaY |4
Sol: ABHSHA L MBS S8 23 CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
MHEELAEIAMSE D 11,041,220 12,584,110 A 1,542,890
= 13,390
s 540,000
J| 485,226
< 469,559
s 9,533,045
Moy 84 9,625,105 9,764,069 A 138,964
s 540,000
J| 393,989
< 434,526
[ia 8,256,590
LAEHSHA L MEHNS 24 22 2,048,079 1,938, 188 109,891
J| 300,989
< 70,526
s 1,676,564
DEDNONS0ttEUS 82,462 86,863 24,401
101 @14l 12,462 11,863 599
04 JIZtHZ22HEE = 12,462 11,863 599
O HM202 DEFDNS0tENS EX 12,462
—eey 73,280 x1E 130 9,527
- F=x==g 73,2803 x 1«26 1,906
-58= 11,433,000& *9% 1,029
307 21201 A 70,000 75,000 A5,000
04 QIZFHALAIH B = 70,000 75,000 A5,000
O HM20= DENS0HENS
70,000,000 » 14! 70,000
det=2E "3l EI HoE=SUS 8,940 8,940 0
307 glz2tol & 8,940 8,940 0
02 It MNAHE X 8,940 8,940 0
O HM7al dA=EEEIFI HESHE
8,940,000 » 14! 8,940
Hdet=SZus2 U3 18,000 0 18,000
307 gl2tol & 18,000 0 18,000
04 DIZHHALALSE E X 18,000 0 18,000
O H423 HMA=Twus2 EBHAZWUS 18,000
D&EZHi OtOBISTH 3 6,000 6,000 0
307 glz2+ol & 6,000 6,000 0
04 QIZFHALAIH E = 6,000 6,000 0
O HM172 D& =+=ti OtOtHt=TH 2l 6,000
NEZ=H AS0I=HUANE 7,000 7,000 0
307 21201 A 7,000 7,000 0
04 QIZFHALAIH B & 7,000 7,000 0
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SM: HSHAEAMLL
FM: HsdE 84
el AZHSHA L MEHS B4 23 (sl &2)
SA - ZE-B(EA) - NRAY - B S il &t o il RS2
SR HNEFEERIEENEEPEEE
7,000,000& » 14 7,000
DT =S 18,200 35,000 A 16,800
307 gl2tol & 18,200 35,000 A 16,800
04 DIZHHALALSE E X 18,200 35,000 A 16,800
O H11g D& 85 SUEH=SUS
18,200, 000& 14 18,200
Hdet=SE s0te M=sE 40,000 40,000 0
= 12,000
i 28,000
307 21201 A 40,000 40,000 0
= 12,000
s 28,000
04 DIZHHALALSE E X 40,000 40,000 0
O det=2E sote Msiia 40,000
< 12,000
e 28,000
DEZOMSHS 251,000 251,000 0
307 glz2tol & 251,000 251,000 0
04 DIZFSHALAIRI 2 = 251,000 251,000 0
O H413 DEZLM=sEUS 251,000
-89 EdEX 13,000,000& 145 = 182,000
— & AtH| 69,000,000 » 14! 69,000
DEZHSE MSCHE 33,800 30,600 3,200
307 glz2tol & 33,800 30,600 3,200
04 QIZFHALAIH E = 33,800 30,600 3,200
O 2022 DEZHMS3EH MsH 33,800
— A2l 1,800
-5+ 5,000
-JAOIES 3,000
-=25 3,000
— i 3,000
- 3,000
-2¢ 3,000
—-HiECIE 3,000
—HLA 3,000
-&= 3,000
-0k 3,000
DETZ HEX s 10,000 0 10,000
307 21201 A 10,000 0 10,000
04 QIZFHALAIH B = 10,000 0 10,000
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AN HSEEALAEAE A
HE: MM SY
el AZHSHA L MEHS B4 23 (sl &2)
= (o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Jl 16,800
< 5,280
= 16,320
02 It M AHEE 38,400 38,400 0
O 2 sO0tdE 320,000& x123H x70% 27,552
J| 11,808
< 3,936
[ia 11,808
O XsSEIIMH s0HAE 320,000& *27H x70% 6,048
J| 2,592
< 864
e 2,592
O Atal 22 sO0HME 320,000& x15H 4,800
J| 2,400
< 480
s 1,920
MEHSANENHESKI(MEHWSXESA Xl 177,848 175,392 2,456
J| 88,924
[ia 88,924
307 21201 A 177,848 175,392 2,456
J| 88,924
[ia 88,924
02 QAFAAFEX 177,848 175,392 2,456
O MEMEXTX BHX 29,641,200& x6H 177,848
J| 88,924
e 88,924
MEHSNERHESXA(NSUMSHSIEI BIX) 207,489 204,624 2,865
J| 103,744
fia 103,745
307 gl2tol & 207,489 204,624 2,865
J| 103,744
s 103,745
02 IZHEHAHE L 207,489 204,624 2,865
O HZAYUEMSXZI B XA
29,641,200& »7H 207,489
J| 103,744
s 103,745
MEHSXEZA 2SN (HHAMSHSR I B 59,282 58,464 818
)
J| 29,641
[ia 29,641
307 21201 A 59,282 58,464 818
J| 29,641
i 29,641
02 QB AAHEX 59,282 58,464 818
O ZHAUEMSEXN =X B X
29,641,000 »2H 59,282
J| 29,641
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2N
X ZH -
L= B

el

Off &t 24

=

i
2m

HJ

29,641

EUNE

45,850

8,085
37,765

45,850

307 21201 &

EUNL

45,850

8,085
37,765

45,850

Mo

45,850
26,950

8,085
18,865

18,900

45,850

N

UL

84,150
58,905
12,622
12,623

61,440

22,710

307 glztol &

S

Mo

84,150
58,905
12,622
12,623

61,440

22,710

O AZ=E2A 0EEA KNIAAS

84,150,000 * 14!

S~

EUNE

84,150

84,150
58,9056
12,622
12,623

61,440

22,710

FO AxZ=2H 0/82A X

N

EUE

4,250
2,975
637
638

4,250

307 glz2tol &

S

VY

4,250
2,975
637
638

4,250

O ZoHe AZ=2L 0/ KA

4,250,000 1

Al
Ay

S

EUNL

4,250

4,250
2,975
637
638

4,250

EUNE

46,314

13,910
32,404

46,314

307 glztol &

M

46,314

13,910
32,404

46,314

02 DIZFHAAI B X

46,314

46,314
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FM: HESEFALAEHAEL
FM: HsdE 84
CHelr AZHSBA L MBS S4 B3 (el @2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O MEN= 25001 29
46,314,000 =14 46,314
< 13,910
s 32,404
HEHSWY 2¢ 16,574 16,574 0
< 4,972
s 11,602
307 gl2tol & 16,574 16,574 0
< 4,972
s 11,602
02 IZtA M AIHE L 16,574 16,574 0
O daisus 29 16,574
< 4,972
s 11,602
FAESFuAY 29 10,140 10, 140 0
< 3,020
i 7,120
307 glz2+ol & 10,140 10, 140 0
< 3,020
e 7,120
02 QB HAANEEE 10,140 10, 140 0
O RA8E2uH 29 10, 140, 000& 14 10,140
= 3,020
s 7,120
A¥zsZIR &4 734,368 690, 888 43,480
< 34,000
s 700,368
STadE 29 A 700,368 655,888 44,480
301 LA F 700,368 655,888 44,480
o=t - 2sFSENS 700,368 655,888 44,480
O JlE=s 264,298
—-ASd = 3,310,500 x1H 124 39,726
-AS &= 3,161,200 x5H x 123 189,672
—-ASd 2,908,300 x1H «x12& 34,900
O ZASAH 140,000 +7H 128 11,760
O dg&E=xt| 155,000 x7H x12& 13,020
O @250l 22,024,800& *60%*22] 26,430
O s 20,0003 »4H 128 960
O &3z 8,270
-AS 8= 3,310,500 #25%* 1H »23| 1,656
—-AS e 3,161,200 x20%*5H *23| 6,323
-AS = 2,908, 3003 *5%*1H »23| 291
O sg=¢ 200,000& x7H 128 16,800
O 4= 2,152,500& x12& 25,830
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AN HSEEALAEAE A
N MsNY |4

Sl NESSPIIY |4 (sl &2)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
O &Xlzel 75,0002 x8H 130 78,000
O =JiE=+¢ 1,200,000 18« 128 14,400
O Z&3 4,000,000 51 CH 3| 20,000
O &A= 50,000
O =S E&SHI 100,000
O =HMUsa =&l 4,000,000 »8&H 32,000
O ol 3,000
O d==Ad Al ALY 200,000& 12 2,400
O dE2E 400,000 x8H 13 3,200
O HE2SZIN2HUILAEl 4,000,000 13| 4,000
O =l 2,000,000 8 16,000
O XeE2E & BAMe==2
1,000,000& «1CH * 1=l 1,000
O xtgEs Xl 500,000 = 1CH 123 6,000
O JIEr2gHl 3,000
NE2sIINTF SHSAY 34,000 35,000 A 1,000
< 34,000
301 LA F 34,000 35,000 A 1,000
< 34,000
o=t - 2s2SELS 34,000 35,000 A 1,000
O 2¢dl ¥ tHals&H| 34,000
=) 34,000
AEZXOHAE 243t 905,374 536,574 368,800
=) 170,000
= 735,374
BT =JIHE JdZUE 180,000 180,000 0
& 70,000
= 110,000
307 21201 & 180,000 180,000 0
< 70,000
[ia 110,000
04 RIZFHALAIH 2 = 180,000 180,000 0
O HAEE =JttHE 4203 180,000
< 70,000
[ia 110,000
= EHAZUE 150,000 150,000 0
=) 70,000
s 80,000
307 glz2+ol & 150,000 150,000 0
=) 70,000
= 80,000
04 QIZHHALALE B £ 150,000 150,000 0
O M43 d=U=sEiaz Soteld=2 3l 150,000
< 70,000
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2M: H

SFALEMEA

3 MsaY |4
ool AXX0OLAE 43 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| o 80,000
HA2ct0le 2EZUSE 30,000 25,000 5,000
< 5,000
s 25,000
307 gl2tol & 30,000 25,000 5,000
< 5,000
s 25,000
04 DIZHHALALSE E X 30,000 25,000 5,000
O 2021 IHei=2ct0lE FEZ U3 30,000
< 5,000
[ia 25,000
82 & U3 65,000 50,000 15,000
< 15,000
i 50,000
307 glz2tol & 65,000 50,000 15,000
< 15,000
e 50,000
04 QIZFHALAIH E = 65,000 50,000 15,000
O DFNOEH 8= FEU3 65,000
< 15,000
s 50,000
d= M4AXENH S 25,000 25,000 0
307 21201 A 25,000 25,000 0
04 QIZFHALAIR B = 25,000 25,000 0
O N2t d=2 M4AXNAEAH e
25,000,000& » 14! 25,000
d= =537 3l 15,000 15,000 0
307 21201 A 15,000 15,000 0
04 QIZFHALAIH B = 15,000 15,000 0
O D¥=Z=H &= =7 U
15,000, 0002 14! 15,000
A2 S E Hal(LDES 2 ) 30,000 17,200 12,800
< 10,000
e 20,000
307 glz2+ol & 30,000 17,200 12,800
= 10,000
e 20,000
04 QIZFHALAIH E = 30,000 17,200 12,800
O M4z DE=S2XE &= BHESE el 30,000
< 10,000
s 20,000
M2 HHEUE HI(MEMS) 150,000 0 150,000
307 21201 A 150,000 0 150,000
04 QIZFHALAIR B = 150,000 0 150,000
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2N

X ZH
S =

el

HEHEALHAGD
CHEMY =54
AEXOIANE 243

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
O g2z A= &M HHEQIE a 150,000
M= ER e (MEHE) 9,000 9,000 0
307 2iz2to| A 9,000 9,000 0
04 DIZ2tSHALALS B X 9,000 9,000 0
O DA B2 =7 3
9,000,000& =14l 9,000
=2 ER e (M2HE) 140,000 0 140,000
307 2iz2to| A 140,000 0 140,000
04 QIZ2tSHAFAFS B X 140,000 0 140,000
O SHEE2) A= &M &322 U3 140,000
8= 02 U3l 35,000 35,000 0
307 QI2t0| ™ 35,000 35,000 0
04 CIZ2tSHALALS B X 35,000 35,000 0
O &2 44 022 3 35,000,000 13| 35,000
DNEZH=ES EXEHE 2 20,000 20,000 0
307 2I2t0| ™ 20,000 20,000 0
02 QI2tAMAIE E X 20,000 20,000 0
O DEaZH=E3 MAEd 29
20,000,000& = 14! 20,000
AZXOAE (AESUHs & MXNEHE SX) 10,374 10,374 0
201 et 5,024 5,024 0
01 AP 2t 2] H| 5,024 5,024 0
O U2 ARBE S 7Y
4,000,000 « 1Al 4,000
O 5L L O2Z2F X E20AH]
L0000 %22 64 1,024
202 04d| 5,350 5,350 0
01 2L Hl 5,350 5,350 0
O AZXOAEY YRFA | 5,350
2023 M2 OLAIOF - EHEH Y OtAEHATHE 46,000 0 46,000
308 AMXISHMSOIA 46,000 0 46,000
07 XSRS S 46,000 0 46,000
O 2023 &= OFAIOF - ENZ QF OLAEATHS Al
= 22 46,000,000 «1A! 46,000
HEANE2H 1,437,284 999,631 437,653
J| 93,000
& 160,000
= 1,184,284
SESSEE 29 271,009 290,379 A 19,370
101 2121 4| 7,200 6,750 450
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O JtA HIIFAZ 50,000& *23] 100
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EA: MEEALAEAGA
Hm: HAd 25 2 84
Sl HAUANSY 2 B3 (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
O s2J BIIZA =2 150,000& =201 *13] 300
O &2l TP 248
121,000 20 x 12 2,904
O &II&EH & A 540,000 *13] 540
O AN&E=s =4 10,000
O gst2eltd 250,000& x12& 3,000
O dI|etHE 2te 510,000 x12& 6,120
O =43 34 24 200 90t *x23| 4,356
O gd g9 i 360,000 x12& 4,320
O EIIFXIAI 2,400,000& *43| 9,600
O 24 S5 HU 22l dl 33,3332 «600H 2,000
202 04| 3,400 3,470 AT0
01 2L HI 3,400 3,470 ANT0
O d2dASA = LH O bl
20,0003 «1H *170L 3,400
206 M = Hl 55,700 55,700 0
01 X2 H| 55,700 55,700 0
O Iz (5 I 5)
200,000& x12& 2,400
O Alg AMEE 5,000,000& 10 50,000
O uugE 7 )
3,000,000 =14l 3,000
O X8 g8 = 300,000& = 14! 300
401 A& HI L 204 HI 24,600 22,400 2,200
01 Al&H| 24,600 22,400 2,200
O HM3Z HAEFE2S UHHEAH AA
1,300,000& x 14! %23] 2,600
O 22 Y S Sd=Z2A
22,000,000& = 14! 22,000
405 XHA&HF S HI 4,500 0 4,500
01 A E B F S| 4,500 0 4,500
O A4 SA WA 4,500,000 « 1Al 4,500
HABHdESHAMY X2 49,000 49,000 0
307 2Iz2t0| & 49,000 49,000 0
11T AISIEXAIEE X 49,000 49,000 0
O BAUW # U SDEA (Y 2= X2
20,000,000 = 14! 20,000
O &dad A (ME & gxoe)ss X
20,000,000& = 14! 20,000
O #A4E 2y o2tUo(d2ed S) X
9,000,000 x14! 9,000
NE AIJNRE M43 XA 12,000 0 12,000
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FM: HESEFALAEHAEL
Hm: HAd 25 2 84
oot HAEANSA U 25 CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 MI2EZE+06l= 26,780 27,540 AT760
O MASE 6834 E AMUES N
26,780,000 » 14! 26,780
= 13,390
< 5,356
s 8,034
4@ g = otztdiol 249 171,272 169,092 2,180
J| 85,636
< 25,691
fia 59,945
307 gl2tol & 171,272 169,092 2,180
J| 85,636
< 25,691
[ia 59,945
11T M SRAISEEX 171,272 169,092 2,180
O 344 & = 0of2t0I0l 2SS X
171,272,000& 14 171,272
J| 85,636
= 25,691
= 59,945
HAESWZOHH0l 2Y (2H B2€3) 36,600 0 36,600
307 gl2tol & 36,600 0 36,600
11T M SXAISE EX 36,600 0 36,600
O g=otatdiol (=2l FI2)
HIOLXtgdl S 36,600,000& 14 36,600
FAad Fogdsa A Y 11,000 11,000 0
< 3,300
s 7,700
307 21201 A 11,000 11,000 0
= 3,300
s 7,700
11T ALS S RAEE = 11,000 11,000 0
O 3448 FHEHLS ALY 11,000, 000& 14! 11,000
< 3,300
i 7,700
AL & 31,475 0 31,475
K& Ol At &k 2t 31,475 0 31,475
DELEMAHT] SSEHSHE ALY X2 31,475 0 31,475
Mg
311 X+ S 0| Xk &k & 31,475 0 31,475
03 SLEFRXNLS0IAL4&HE 31,475 0 31,475
O XL OfXtasH(DEABIMACT] S5
HMsdH Hg) 1,498,788,000& *2. 1% 31,475
HE2IZH(MSHELAEAGE ) 58,188 63,148 A 4,960
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